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¢ 65 ¢ 90 2R au4Y-b s+ ;e #h L ET Fa4k (m) il () (m) LLIF | 12.0m | 18.0m (kg) (#) (#) #hFR 18R
A 1 1 4. 40 0.30 0.60 3.50 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1 D19
2 1 4. 40 0.30 1.10 3.00 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1 2.25 ke/m
B 1 1 4. 40 0.30 0.17 3.93 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1
2 1 4. 40 0.30 1.00 3.10 4.10 0.0014 0. 0190|| 4.50 1 10.13 2 0 1
3 1 4. 40 0.30 1.50 2.60 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1
C 1 1 4. 40 0.30 0.50 3. 60 4.10 0.0014 0.0190 4.50 1 10.13 2 0 1
2 1 4. 40 0.30 1.35 2.75 4.10 0.0014 0.0190f| 4.50 1 10.13 2 0 1
3 1 4. 40 0.30 2.00 2.10 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1
D 3 1 4. 40 0.30 0.50 3.60 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1
4 1 4. 40 0.30 1.40 2.70 4.10 0.0014 0. 0190|| 4.50 1 10.13 2 0 1
5 1 4. 40 0.30 2,97 1.83 4.10 0.0014 0. 0190 4.50 1 10.13 2 0 1
E 5 1 4. 40 0.30 0.20 3.90 4.10 0.0014 0.0190 4.50 1 10.13 2 0 1
6 1 4. 40 0. 30 1.00 3.10 4.10 0.0014 0. 0190|| 4. 50 1 10.13 2 0 1
7 1 4. 40 0.30 1.90 220 4.10 0.0014 0. 0190|| 4.50 1 10.13 2 0 1
8 1 4. 40 0.30 282 1.28 4.10 0.0014 0.0190 4.50 1 10.13 2 0 1
INEE 15 0 66. 00 4.50 18. 31 43.19 61.50 0.0210 0. 2850 67.50 15 0 0 151.95 30 0 15
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® 65 90 o =WUE e+ L¢= il Et FEHR () il (m®) (m) LT | 12.0m | 18.0m (kg) (4) (&) R 1 ER
F 4 1 2.90 0.30 0.30 2.30 2.60 0.0014 0.0121 3.00 1 6.75 2 0 1 D19
5 1 2.90 0.30 0.60 2.00 2.60 0.0014 0.0121 3.00 1 6.75 2 0 1 2.25 kg/m
6 1 2.90 0. 30 0.94 1.66 2. 60 0.0014 0.0121 3.00 1 6. 75 2 0 1
G 5 1 2.90 0. 30 0. 50 2.10 2. 60 0.0014 0. 0121 3.00 1 6. 75 2 0 1
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H 6 1 2.90 0.30 0.60 2.00 2.60 0.0014 0.0121 3.00 1 6.75 2 0 1
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d\%f 17 0 49.30 5.10 15.79 28. 41 44.20 0. 0238 0. 2057 51.00 17 0 0 114.75 34 0 17
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MGEAE ¢ 65mmER : v /4 x HIFL#E (0. 065) "2 x (HIFLE) x (1+K)
K: #HIE{%%k (=0.4)

_10_

* f MER=HIFLR+R & 0.10)
* D19 (SD345A 2. 25kg/m)




(1 8) n v 42 R I b T H B X
£ = Hill FLE (mm) HIFL& (m) _ EIJKES 53E]\§3 mILrEE| 6.0m | 6.0~ | 12.0~ = AN == YT 5 EE’&ISMEEI_ & =
$65 | ¢90 &R IvhY-p HE A L gt AR M) [ il (m°) (m) LAF | 12.0m | 18.0m (kg) () (#) & 1BEL

D 1 1 3. 40 0.30 0.29 2. 81 3.10 0.0014 0.0144 3.50 1 17.64 2 0 1 D29
2 1 3. 40 0.30 0.29 2. 81 3.10 0.0014 0.0144 3.50 1 17.64 2 0 1 5.04 kg/m

E 1 1 3. 40 0.30 2. 00 1.10 3.10 0.0014 0.0144 3.50 1 17. 64 2 0 1
2 1 3. 40 0.30 1.88 1.22 3.10 0.0014 0.0144 3.50 1 17. 64 2 0 1
3 1 3. 40 0.30 1.00 2.10 3.10 0.0014 0.0144 3.50 1 17. 64 2 0 1
4 1 3.40 0.30 0.20 2.90 3.10 0.0014 0.0144 3.50 1 17.64 2 0 1
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¢ 65 ¢ 90 2R au4Y-b s+ ;e #h L ET Fa4k (m) il () (m) LLIF | 12.0m | 18.0m (kg) (#) (#) #hFR 18R

F 1 1 4. 40 0.30 1.70 2. 40 4.10 0.0014 0. 0190 4.50 1 22.68 2 0 1 D29
2 1 4. 40 0.30 1.01 3.09 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1 5.04 ke/m
3 1 4. 40 0.30 0.30 3. 80 4.10 0.0014 0. 0190 4.50 1 22.68 2 0 1

G 1 1 4. 40 0.30 3. 60 0.50 4.10 0.0014 0. 0190 4.50 1 22.68 2 0 1
2 1 4. 40 0.30 2.60 1.50 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1
3 1 4. 40 0. 30 1.60 2 50 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1
4 1 4. 40 0.30 0.60 3.50 4.10 0.0014 0.0190 4.50 1 22.68 2 0 1
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2 1 4. 40 0.30 2.60 1.50 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1
3 1 4. 40 0.30 1.80 2.30 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1
4 1 4. 40 0.30 1.00 3.10 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1
5 1 4. 40 0.30 0.30 3. 80 4.10 0.0014 0. 0190 4.50 1 22.68 2 0 1

I 1 1 4. 40 0.30 2.50 1. 60 4.10 0.0014 0.0190 4.50 1 22.68 2 0 1
2 1 4. 40 0. 30 1.70 2 40 4.10 0.0014 0. 0190|| 4. 50 1 22.68 2 0 1
3 1 4. 40 0.30 1.00 3.10 4.10 0.0014 0.0190 4.50 1 22.68 2 0 1

J 1 1 4. 40 0.30 3.10 1.00 4.10 0.0014 0. 0190 4.50 1 22.68 2 0 1
2 1 4. 40 0.30 2.30 1.80 4.10 0.0014 0. 0190|| 4.50 1 22.68 2 0 1
3 1 4. 40 0.30 1.50 2.60 4.10 0.0014 0. 0190 4.50 1 22.68 2 0 1

INE 18 0 79.20 5. 40 32.57 41.23 73. 80 0. 0252 0. 3420 81.00 18 0 0 408. 24 36 0 18
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